

Exhibit 2

IFB 6730 - Pricing Tabulation for Asphalt & Concrete Street Sections and Repair Services

Services Proposal Pricing:				JAGOE-PUBLIC CO <i>Denton, Texas</i>		PAVECON PUBLIC WORKS <i>Grand Prairie, Texas</i>	
ITEM	EST. ANNUAL QTY	UOM	Type of Service Requested	Unit Price	Extended Price	Unit Price	Extended Price
1	3,500	SY	Excavate 4" Dirt 0 to 499 SY	\$9.60	\$33,600.00	\$5.15	\$18,025.00
2	3,500	SY	Excavate 4" Dirt 500 to 2000 SY	\$9.00	\$31,500.00	\$4.70	\$16,450.00
3	3,500	SY	Excavate 4" Dirt 2001 to 5000 SY	\$8.80	\$30,800.00	\$4.40	\$15,400.00
4	3,500	SY	Place 4" and Compact Type 1 5/8" Down Flex Base 0 to 499 SY	\$15.50	\$54,250.00	\$19.70	\$68,950.00
5	3,500	SY	Place 4" and Compact Type 1 5/8" Down Flex Base 500 to 2000 SY	\$14.50	\$50,750.00	\$17.90	\$62,650.00
6	3,500	SY	Place 4" and Compact Type 1 5/8" Down Flex Base 2001 to 5000 SY	\$13.30	\$46,550.00	\$17.40	\$60,900.00
7	3,500	SY	Cut and Remove 4" Concrete Sidewalk 0 to 499 SY	\$48.50	\$169,750.00	\$4.85	\$16,975.00
8	3,500	SY	Cut and Remove 4" Concrete Sidewalk- 500 to 2000 SY	\$48.25	\$168,875.00	\$4.40	\$15,400.00
9	3,500	SY	Cut and Remove 4" Concrete Sidewalk 2001 to 5000 SY	\$48.20	\$168,700.00	\$4.40	\$15,400.00
10	3,500	SY	Replace 4" Concrete Sidewalk 0 to 499 SY	\$63.25	\$221,375.00	\$57.70	\$201,950.00
11	3,500	SY	Replace 4" Concrete Sidewalk- 500 to 2000 SY	\$62.25	\$217,875.00	\$52.45	\$183,575.00
12	3,500	SY	Replace 4" Concrete Sidewalk-2001 to 5000 SY	\$60.25	\$210,875.00	\$51.00	\$178,500.00
13	2,500	SY	Cut and Remove 5" Concrete Sidewalk 0 to 499	\$47.00	\$117,500.00	\$6.30	\$15,750.00
14	2,500	SY	Cut and Remove 5" Concrete Sidewalk - 500 to 2000 SY	\$46.50	\$116,250.00	\$5.70	\$14,250.00
15	2,500	SY	Cut and Remove 5" Concrete Sidewalk- 2001 to 5000 SY	\$46.30	\$115,750.00	\$5.50	\$13,750.00
16	2,500	SY	Replace 5" Concrete Sidewalk 0 to 499 SY	\$67.50	\$168,750.00	\$63.75	\$159,375.00
17	2,500	SY	Replace 5" Concrete Sidewalk- 500 to 2000 SY	\$66.00	\$165,000.00	\$57.95	\$144,875.00
18	2,500	SY	Replace 5" Concrete Sidewalk-2001 to 5000 SY	\$65.50	\$163,750.00	\$56.25	\$140,625.00
19	3,500	SY	Cut and Remove 6" Concrete Sidewalk(with Steel) 0 to 500 SY	\$47.00	\$164,500.00	\$6.75	\$23,625.00
20	3,500	SY	Cut and Remove 6" Concrete Sidewalk(with Steel) 501 to 2000 SY	\$46.75	\$163,625.00	\$6.10	\$21,350.00
21	3,500	SY	Cut and Remove 6" Concrete Sidewalk(with Steel) 2001 to 5000 SY	\$46.50	\$162,750.00	\$5.90	\$20,650.00
22	3,500	SY	Replace 6" Concrete Sidewalk(with Steel) 0 to 500 SY	\$70.00	\$245,000.00	\$67.00	\$234,500.00
23	3,500	SY	Replace 6" Concrete Sidewalk(with Steel) 501 to 2000 SY	\$67.75	\$237,125.00	\$60.90	\$213,150.00
24	3,500	SY	Replace 6" Concrete Sidewalk(with Steel) 2001 to 5000 SY	\$66.00	\$231,000.00	\$59.10	\$206,850.00
25	3,500	SY	Concrete Patterned (Medians)	\$122.00	\$427,000.00	\$162.60	\$569,100.00
26	100	EA	Cut and Remove 5' Type 1A Wheel Chair Ramp	\$700.00	\$70,000.00	\$185.00	\$18,500.00
27	100	EA	Replace 5' Type 1A Wheel Chair Ramp	\$1,400.00	\$140,000.00	\$1,310.00	\$131,000.00
28	100	EA	Cut and Remove 8' Type 1A Wheel Chair Ramp	\$800.00	\$80,000.00	\$271.00	\$27,100.00
29	100	EA	Replace 8' Type 1A Wheel Chair Ramp	\$1,800.00	\$180,000.00	\$1,725.00	\$172,500.00
30	100	EA	Cut and Remove 10' Type 1A Wheel Chair Ramp	\$900.00	\$90,000.00	\$330.00	\$33,000.00
31	100	EA	Replace 10' Type 1A Wheel Chair Ramp	\$1,900.00	\$190,000.00	\$1,880.00	\$188,000.00
32	100	SY	Cut and Replace 8' Valley Gutter	\$50.00	\$5,000.00	\$56.30	\$5,630.00
33	100	SY	Replace 8' Valley Gutter	\$77.00	\$7,700.00	\$174.15	\$17,415.00
34	100	SY	Cut and Remove 10' Valley Gutter	\$60.00	\$6,000.00	\$66.60	\$6,660.00
35	100	SY	Replace 10' Valley Gutter	\$86.00	\$8,600.00	\$187.15	\$18,715.00
36	1,500	SY	Cut and Remove 6" Concrete Pavement-500 to 2000 SY	\$50.00	\$75,000.00	\$7.25	\$10,875.00
37	4,000	SY	Cut and Remove 6" Concrete Pavement-2001 to 5000 SY	\$49.00	\$196,000.00	\$6.50	\$26,000.00
38	5,000	SY	Cut and Remove 6" Concrete Pavement 5001 to 8000 SY	\$48.00	\$240,000.00	\$6.30	\$31,500.00
39	1,500	SY	Replace 6" Concrete Pavement-500 to 2000 SY	\$71.00	\$106,500.00	\$89.10	\$133,650.00
40	4,000	SY	Replace 6" Concrete Pavement-2001 to 5000 SY	\$69.00	\$276,000.00	\$81.00	\$324,000.00
41	5,000	SY	Replace 6" Concrete Pavement 5001 to 8000 SY	\$60.50	\$302,500.00	\$78.60	\$393,000.00
42	1,000	SY	Cut and Remove 8" Concrete Pavement-500 to 2000 SY	\$61.00	\$61,000.00	\$9.25	\$9,250.00
43	3,500	SY	Cut and Remove 8" Concrete Pavement-2001 to 5000 SY	\$60.00	\$210,000.00	\$8.40	\$29,400.00
44	5,000	SY	Cut and Remove 8" Concrete Pavement 5001 to 8000 SY	\$58.00	\$290,000.00	\$8.15	\$40,750.00
45	1,000	SY	Replace 8" Concrete Pavement-500 to 2000 SY	\$72.00	\$72,000.00	\$101.00	\$101,000.00
46	3,500	SY	Replace 8" Concrete Pavement-2001 to 5000 SY	\$71.50	\$250,250.00	\$91.75	\$321,125.00
47	5,000	SY	Replace 8" Concrete Pavement 5001 to 8000 SY	\$71.00	\$355,000.00	\$89.00	\$445,000.00
48	1,500	SY	Cut and Remove 10" Concrete Pavement-500 to 2000 SY	\$68.00	\$102,000.00	\$10.60	\$15,900.00

Exhibit 2

IFB 6730 - Pricing Tabulation for Asphalt & Concrete Street Sections and Repair Services

				JAGOE-PUBLIC CO		PAVECON PUBLIC WORL	
49	4,000	SY	Cut and Remove 10" Concrete Pavement-2001 to 5000 SY	\$67.00	\$268,000.00	\$9.60	\$38,400.00
50	5,000	SY	Cut and Remove 10" Concrete Pavement 5001 to 8000 SY	\$66.50	\$332,500.00	\$9.35	\$46,750.00
51	1,500	SY	Replace 10" Concrete Pavement-500 to 2000 SY	\$86.00	\$129,000.00	\$116.60	\$174,900.00
52	4,000	SY	Replace 10" Concrete Pavement-2001 to 5000 SY	\$85.00	\$340,000.00	\$106.00	\$424,000.00
53	5,000	SY	Replace 10" Concrete Pavement 5001 to 8000 SY	\$84.00	\$420,000.00	\$103.00	\$515,000.00
54	4,500	LF	Cut and Remove 24" Curb and Gutter 0 to 499 LF	\$14.00	\$63,000.00	\$4.65	\$20,925.00
55	4,500	LF	Cut and Remove 24" Curb and Gutter 500 to 2000 LF	\$13.90	\$62,550.00	\$4.20	\$18,900.00
56	4,500	LF	Cut and Remove 24" Curb and Gutter-2001 to 5000 LF	\$13.80	\$62,100.00	\$4.20	\$18,900.00
57	4,500	LF	Cut and Remove 30" Surmountable Curb and Gutter 0 to 500 LF	\$16.50	\$74,250.00	\$4.65	\$20,925.00
58	4,500	LF	Cut and Remove 30" Surmountable Curb and Gutter 501 to 2000 LF	\$16.40	\$73,800.00	\$4.20	\$18,900.00
59	4,500	LF	Cut and Remove 30" Surmountable Curb and Gutter 2001 to 5000 LF	\$16.30	\$73,350.00	\$4.20	\$18,900.00
60	4,500	LF	Replace 24" Curb and Gutter 0 to 500 LF	\$35.00	\$157,500.00	\$83.05	\$373,725.00
61	1,800	LF	Replace 24" Curb and Gutter-501 to 2000 LF	\$34.00	\$61,200.00	\$75.50	\$135,900.00
62	4,500	LF	Replace 24" Curb and Gutter-2001 to 5000 LF	\$33.00	\$148,500.00	\$75.50	\$339,750.00
63	4,500	LF	Replace 30" Curb and Gutter 0 to 500 LF	\$37.00	\$166,500.00	\$76.00	\$342,000.00
64	4,500	LF	Replace 30" Curb and Gutter 501 to 2000 LF	\$35.00	\$157,500.00	\$69.10	\$310,950.00
65	4,500	LF	Replace 30" Curb and Gutter 2001 to 5000 LF	\$35.00	\$157,500.00	\$69.10	\$310,950.00
66	2,000	SY	Cut and Remove 2" Asphalt-500 to 2000 SY	\$5.50	\$11,000.00	\$5.10	\$10,200.00
67	5,000	SY	Cut and Remove 2" Asphalt-2001 to 5000 SY	\$2.50	\$12,500.00	\$3.75	\$18,750.00
68	5,000	SY	Cut and Remove 2" Asphalt 5001 to 8000 SY	\$2.20	\$11,000.00	\$2.70	\$13,500.00
69	2,000	SY	Replace 2" Asphalt-500 to 2000 SY	\$9.00	\$18,000.00	\$18.60	\$37,200.00
70	5,000	SY	Replace 2" Asphalt-2001 to 5000 SY	\$7.40	\$37,000.00	\$16.90	\$84,500.00
71	5,000	SY	Replace 2" Asphalt 5001 to 8000 SY	\$7.30	\$36,500.00	\$16.40	\$82,000.00
72	2,000	SY	Cut and Remove 3" Asphalt-500 to 2000 SY	\$5.50	\$11,000.00	\$5.65	\$11,300.00
73	5,000	SY	Cut and Remove 3" Asphalt-2001 to 5000 SY	\$2.60	\$13,000.00	\$4.05	\$20,250.00
74	5,000	SY	Cut and Remove 3" Asphalt 5001 to 8000 Sy	\$2.38	\$11,900.00	\$3.50	\$17,500.00
75	2,000	SY	Replace 3" Asphalt-500 to 2000 SY	\$12.00	\$24,000.00	\$24.60	\$49,200.00
76	5,000	SY	Replace 3" Asphalt-2001 to 5000 SY	\$10.40	\$52,000.00	\$22.35	\$111,750.00
77	5,000	SY	Replace 3" Asphalt 5001 to 8000 SY	\$10.25	\$51,250.00	\$21.70	\$108,500.00
78	1,500	SY	Cut and Remove 4" Asphalt-500 to 2000 SY	\$5.80	\$8,700.00	\$7.00	\$10,500.00
79	3,500	SY	Cut and Remove 4" Asphalt-2001 to 5000 SY	\$3.00	\$10,500.00	\$4.60	\$16,100.00
80	5,000	SY	Cut and Remove 4" Asphalt 5001 to 8000 Sy	\$2.70	\$13,500.00	\$3.80	\$19,000.00
81	1,500	SY	Replace 4" Asphalt-500 to 2000 SY	\$16.00	\$24,000.00	\$23.60	\$35,400.00
82	3,500	SY	Replace 4" Asphalt-2001 to 5000 SY	\$13.80	\$48,300.00	\$21.45	\$75,075.00
83	5,000	SY	Replace 4" Asphalt 5001 to 8000 SY	\$13.50	\$67,500.00	\$20.80	\$104,000.00
84	1,500	SY	Cut and Remove 5" Asphalt-500 to 2000 SY	\$6.60	\$9,900.00	\$6.75	\$10,125.00
85	3,500	SY	Cut and Remove 5" Asphalt-2001 to 5000 SY	\$3.40	\$11,900.00	\$5.00	\$17,500.00
86	5,000	SY	Cut and Remove 5" Asphalt 5001 to 8000 SY	\$3.25	\$16,250.00	\$4.30	\$21,500.00
87	1,500	SY	Replace 5" Asphalt-500 to 2000 SY	\$17.80	\$26,700.00	\$28.30	\$42,450.00
88	3,500	SY	Replace 5" Asphalt-2001 to 5000 SY	\$15.75	\$55,125.00	\$25.70	\$89,950.00
89	5,000	SY	Replace 5" Asphalt 5001 to 8000 SY	\$15.25	\$76,250.00	\$24.95	\$124,750.00
90	1,800	SY	Cut and Remove 6" Asphalt-500 to 2000 SY	\$7.25	\$13,050.00	\$7.55	\$13,590.00
91	3,500	SY	Cut and Remove 6" Asphalt-2001 to 5000 SY	\$3.80	\$13,300.00	\$6.45	\$22,575.00
92	5,000	SY	Cut and Remove 6" Asphalt 5001 to 8000 SY	\$3.30	\$16,500.00	\$4.60	\$23,000.00
93	1,800	SY	Replace 6" Asphalt-500 to 2000 SY	\$20.00	\$36,000.00	\$32.90	\$59,220.00
94	3,500	SY	Replace 6" Asphalt-2001 to 5000 SY	\$18.75	\$65,625.00	\$29.90	\$104,650.00
95	5,000	SY	Replace 6" Asphalt 5001 to 8000 SY	\$18.50	\$92,500.00	\$29.00	\$145,000.00
96	1,500	SY	Cut and Remove 7" Asphalt-500 to 2000 SY	\$7.50	\$11,250.00	\$7.80	\$11,700.00
97	3,500	SY	Cut and Remove 7" Asphalt-2001 to 5000 SY	\$4.15	\$14,525.00	\$6.75	\$23,625.00
98	5,000	SY	Cut and Remove 7" Asphalt 5001 to 8000 SY	\$3.50	\$17,500.00	\$5.40	\$27,000.00
99	1,500	SY	Replace 7" Asphalt-500 to 2000 SY	\$23.50	\$35,250.00	\$37.60	\$56,400.00
100	3,500	SY	Replace 7" Asphalt-2001 to 5000 SY	\$22.25	\$77,875.00	\$34.15	\$119,525.00

Exhibit 2

IFB 6730 - Pricing Tabulation for Asphalt & Concrete Street Sections and Repair Services

				JAGOE-PUBLIC CO		PAVECON PUBLIC WORKS	
101	5,000	SY	Replace 7" Asphalt 5001 to 8000 SY	\$21.75	\$108,750.00	\$33.15	\$165,750.00
102	3,500	SY	Cut and Remove 8" Asphalt-500 to 2000 SY	\$7.75	\$27,125.00	\$8.05	\$28,175.00
103	3,500	SY	Cut and Remove 8" Asphalt-2001 to 5000 SY	\$4.20	\$14,700.00	\$7.00	\$24,500.00
104	7,500	SY	Cut and Remove 8" Asphalt-5001 to 8000 SY	\$3.70	\$27,750.00	\$6.20	\$46,500.00
105	1,500	SY	Replace 8" Asphalt-500 to 2000 SY	\$26.50	\$39,750.00	\$42.20	\$63,300.00
106	3,500	SY	Replace 8" Asphalt-2001 to 5000 SY	\$25.75	\$90,125.00	\$38.35	\$134,225.00
107	7,500	SY	Replace 8" Asphalt- 5001 to 8000 SY	\$25.00	\$187,500.00	\$37.20	\$279,000.00
108	3,500	SY	Cut and Remove 9" Asphalt 500 to 2000 SY	\$8.00	\$28,000.00	\$8.35	\$29,225.00
109	3,500	SY	Cut and Remove 9" Asphalt 2001 to 5000 SY	\$4.85	\$16,975.00	\$7.55	\$26,425.00
110	7,500	SY	Cut and Remove 9" Asphalt 5001 to 8000 SY	\$4.60	\$34,500.00	\$7.80	\$58,500.00
111	3,500	SY	Replace 9" Asphalt 500 to 2000 SY	\$28.50	\$99,750.00	\$47.50	\$166,250.00
112	3,500	SY	Replace 9" Asphalt 2001 to 5000 SY	\$28.25	\$98,875.00	\$43.15	\$151,025.00
113	7,500	SY	Replace 9" Asphalt 5001 to 8000 SY	\$28.00	\$210,000.00	\$41.85	\$313,875.00
114	1,500	SY	Cut and Remove 10" Asphalt-500 to 2000 SY	\$8.50	\$12,750.00	\$9.40	\$14,100.00
115	3,500	SY	Cut and Remove 10" Asphalt-2001 to 5000 SY	\$5.50	\$19,250.00	\$9.15	\$32,025.00
116	7,000	SY	Cut and Remove 10" Asphalt 5001 to 8000 SY	\$5.25	\$36,750.00	\$8.05	\$56,350.00
117	1,500	SY	Replace 10" Asphalt-500 to 2000 SY	\$32.00	\$48,000.00	\$52.10	\$78,150.00
118	3,500	SY	Replace 10" Asphalt-2001 to 5000 SY	\$31.00	\$108,500.00	\$47.35	\$165,725.00
119	7,500	SY	Replace 10" Asphalt-5001 to 8000 Sy	\$30.75	\$230,625.00	\$45.95	\$344,625.00
120	1,800	SY	Cut and Remove 12" Asphalt-500 to 2000 SY	\$8.80	\$15,840.00	\$10.75	\$19,350.00
121	4,500	SY	Cut and Remove 12" Asphalt-2001 to 5000 SY	\$7.00	\$31,500.00	\$9.70	\$43,650.00
122	7,500	SY	Cut and Remove 12" Asphalt- 5001 to 8000 SY	\$6.50	\$48,750.00	\$9.15	\$68,625.00
123	1,800	SY	Replace 12" Asphalt-500 to 2000 SY	\$37.25	\$67,050.00	\$61.60	\$110,880.00
124	4,500	SY	Replace 12" Asphalt-2001 to 5000 SY	\$36.75	\$165,375.00	\$56.00	\$252,000.00
125	7,500	SY	Replace 12" Asphalt-5001 to 8000 SY	\$36.50	\$273,750.00	\$54.50	\$408,750.00
126	100	EA	Adjust Manholes to Finish Grade - All Manholes	\$445.00	\$44,500.00	\$325.00	\$32,500.00
127	100	EA	Adjust Valves to Finish Grade	\$335.00	\$33,500.00	\$135.00	\$13,500.00
128	2,000	SY	Subgrade Stabilization - 6" 500 to 2000 SY	\$5.35	\$10,700.00	\$14.50	\$29,000.00
129	1,000	SY	Lime Subgrade Stabilization - 8" 500 to 2000 SY	\$10.70	\$10,700.00	\$11.00	\$11,000.00
130	4,300	SY	Lime Subgrade Stabilization - 8" 2001 to 5000 SY	\$5.00	\$21,500.00	\$10.00	\$43,000.00
131	5,000	SY	Lime Subgrade Stabilization - 8" 5001 to 8000 SY	\$4.75	\$23,750.00	\$9.70	\$48,500.00
132	1,000	SY	Lime Subgrade Stabilization - 12" 500 to 2000 SY	\$15.80	\$15,800.00	\$12.50	\$12,500.00
133	4,300	SY	Lime Subgrade Stabilization - 12" 2001 to 5000 SY	\$6.10	\$26,230.00	\$11.25	\$48,375.00
134	5,000	SY	Lime Subgrade Stabilization - 12" 5001 to 8000 SY	\$6.00	\$30,000.00	\$10.95	\$54,750.00
135	1,000	SY	Cement Subgrade Stabilization - 8" 500 to 2000 SY	\$10.75	\$10,750.00	\$8.25	\$8,250.00
136	4,000	SY	Cement Subgrade Stabilization - 8" 2001 to 5000 SY	\$5.00	\$20,000.00	\$7.40	\$29,600.00
137	5,000	SY	Cement Subgrade Stabilization - 8" 5001 to 8000 SY	\$4.75	\$23,750.00	\$7.20	\$36,000.00
138	1,000	SY	Cement Subgrade Stabilization - 12" 500 to 2000 SY	\$10.75	\$10,750.00	\$10.20	\$10,200.00
139	3,500	SY	Cement Subgrade Stabilization - 12" 2001 to 5000 SY	\$5.50	\$19,250.00	\$9.25	\$32,375.00
140	5,000	SY	Cement Subgrade Stabilization - 12" 5001 to 8000 SY	\$5.00	\$25,000.00	\$9.00	\$45,000.00
141	200	TN	Lime for Subgrade Stabilization - PH Series (1 to 1000 TN)	\$156.00	\$31,200.00	\$167.00	\$33,400.00
142	200	TN	Cement for Stabilization - Atterberg Limits (1 to 1000 TN)	\$154.00	\$30,800.00	\$153.00	\$30,600.00
143	700	LF	Erosion Control - Silt Fence - Inlet Protection	\$4.00	\$2,800.00	\$4.80	\$3,360.00
144	750	SY	Hydromulch	\$5.25	\$3,937.50	\$15.40	\$11,550.00
145	250	CY	Unclassified Excavation-1 to 500 CY	\$19.50	\$4,875.00	\$36.30	\$9,075.00
146	750	CY	Unclassified Excavation-501 to 999 CY	\$14.50	\$10,875.00	\$33.00	\$24,750.00
147	250	CY	Compacted Fill to 95%-100 to 500 CY	\$24.25	\$6,062.50	\$49.50	\$12,375.00
148	750	CY	Compacted Fill to 95%-501 to 1000 CY	\$13.75	\$10,312.50	\$45.00	\$33,750.00
149	250	CY	Install Type 1 Flexbase by CY-10" 0 to 500 CY	\$80.00	\$20,000.00	\$104.50	\$26,125.00
150	750	CY	Install Type 1 Flexbase by CY-10" 500 to 999 CY	\$79.00	\$59,250.00	\$995.00	\$746,250.00
151	250	CY	Install Type 1 Flexbase by CY-15" 0 to 500 CY	\$78.50	\$19,625.00	\$112.75	\$28,187.50
152	750	CY	Install Type 1 Flexbase by CY-15" 501 to 999 CY	\$72.00	\$54,000.00	\$102.50	\$76,875.00

Exhibit 2

IFB 6730 - Pricing Tabulation for Asphalt & Concrete Street Sections and Repair Services

				JAGOE-PUBLIC CO		PAVECON PUBLIC WORKS	
153	250	SY	Asphalt Base Failure Repair by SY-6"-100 to 500 SY	\$82.00	\$20,500.00	\$65.85	\$16,462.50
154	1,000	SY	Asphalt Base Failure Repair by SY-6"-501 to 1500 SY	\$40.00	\$40,000.00	\$51.75	\$51,750.00
155	250	SY	Asphalt Base Failure Repair by SY-8"-100 to 500 SY	\$88.00	\$22,000.00	\$85.75	\$21,437.50
156	1,000	SY	Asphalt Base Failure Repair by SY-8"-501 to 1501 SY	\$50.00	\$50,000.00	\$70.60	\$70,600.00
157	3,500	SY	Emulsified Asphalt for Priming of Subgrade (SS-1)	\$0.62	\$2,170.00	\$0.85	\$2,975.00
158	5	EA	Remove and replace inlet top 5'	\$4,100.00	\$20,500.00	\$2,115.00	\$10,575.00
159	5	EA	Remove and replace inlet top 10'	\$4,400.00	\$22,000.00	\$2,655.00	\$13,275.00
160	5	EA	Remove and replace inlet top 20"	\$6,300.00	\$31,500.00	\$3,990.00	\$19,950.00
161	5	EA	Remove curb inlet 10' (0' to 6' Depth)	\$1,350.00	\$6,750.00	\$1,790.00	\$8,950.00
162	1	VFT	Vertical foot extra depth	\$525.00	\$525.00	\$352.25	\$352.25
163	5	EA	Remove curb inlet 15' (0' to 6' Depth)	\$1,450.00	\$7,250.00	\$2,330.00	\$11,650.00
164	1	VFT	Vertical foot extra depth	\$530.00	\$530.00	\$417.30	\$417.30
165	5	EA	Remove curb inlet 20' (0' to 6' Depth)	\$1,550.00	\$7,750.00	\$2,655.00	\$13,275.00
166	1	VFT	Vertical foot extra depth	\$540.00	\$540.00	\$487.75	\$487.75
167	5	EA	Install curb inlet 10' (0' to 6' Depth)	\$6,225.00	\$31,125.00	\$4,500.00	\$22,500.00
168	1	VFT	Vertical foot extra depth	\$312.00	\$312.00	\$758.75	\$758.75
169	5	EA	Install curb inlet 15' (0' to 6' Depth)	\$8,000.00	\$40,000.00	\$4,900.00	\$24,500.00
170	1	VFT	Vertical foot extra depth	\$410.00	\$410.00	\$823.75	\$823.75
171	5	EA	Install curb inlet 20' (0' to 6' Depth)	\$9,700.00	\$48,500.00	\$6,775.00	\$33,875.00
172	1	VFT	Vertical foot extra depth	\$510.00	\$510.00	\$1,130.00	\$1,130.00
173	5	EA	Install 4' Yard Inlet (0' to 6' Depth)	\$3,200.00	\$16,000.00	\$2,655.00	\$13,275.00
174	1	VFT	Vertical foot extra depth	\$245.00	\$245.00	\$243.90	\$243.90
175	5	EA	Install 6' Yard Inlet (0' to 6' Depth)	\$3,775.00	\$18,875.00	\$7,045.00	\$35,225.00
176	1	VFT	Vertical foot extra depth	\$350.00	\$350.00	\$1,030.00	\$1,030.00
177	250	LF	Install 18" RCP (0' to 6' Depth)	\$120.00	\$30,000.00	\$95.40	\$23,850.00
178	1	VFT	Vertical foot extra depth	\$82.00	\$82.00	\$5.45	\$5.45
179	250	LF	Install RCP 24" (0' to 6' Depth)	\$138.00	\$34,500.00	\$102.00	\$25,500.00
180	1	VFT	Vertical foot extra depth	\$84.00	\$84.00	\$6.50	\$6.50
181	250	LF	Install RCP 30" (0' to 6' Depth)	\$177.00	\$44,250.00	\$123.60	\$30,900.00
182	1	VFT	Vertical foot extra depth	\$86.00	\$86.00	\$7.60	\$7.60
183	250	LF	Install RCP 36" (0' to 6' Depth)	\$210.00	\$52,500.00	\$154.00	\$38,500.00
184	1	VFT	Vertical foot extra depth	\$88.00	\$88.00	\$9.75	\$9.75
185	200	LF	Remove 6' Concrete Flume with 6" curb	\$33.00	\$6,600.00	\$9.75	\$1,950.00
186	200	LF	Install 6' concrete Flume with 6" curb	\$76.00	\$15,200.00	\$39.00	\$7,800.00
187	200	LF	Remove 10' concrete Flume with 6" curb	\$36.75	\$7,350.00	\$13.00	\$2,600.00
188	200	LF	Install 10' concrete Flume with 6" curb	\$112.00	\$22,400.00	\$61.80	\$12,360.00
189	5	EA	4' Junction Box (0' to 6' Depth)	\$3,150.00	\$15,750.00	\$3,235.00	\$16,175.00
190	1	VFT	Vertical foot extra depth	\$245.00	\$245.00	\$352.25	\$352.25
191	5	EA	5' Junction box (0' to 6' Depth)	\$3,950.00	\$19,750.00	\$4,825.00	\$24,125.00
192	1	VFT	Vertical foot extra depth	\$296.00	\$296.00	\$487.75	\$487.75
193	5	EA	6" Junction Box (0' to 6' Depth)	\$4,800.00	\$24,000.00	\$5,875.00	\$29,375.00
194	1	VFT	Vertical foot extra depth	\$350.00	\$350.00	\$615.65	\$615.65
195	10	EA	6:1 Safety End Treatments 18" Pipe	\$1,675.00	\$16,750.00	\$1,235.00	\$12,350.00
196	10	EA	6:1 Safety End Treatment 24" Pipe	\$2,300.00	\$23,000.00	\$1,495.00	\$14,950.00
197	10	EA	6:1 Safety End Treatment 30" Pipe	\$3,000.00	\$30,000.00	\$2,875.00	\$28,750.00
198	500	SY	St. Augustine Sod	\$12.50	\$6,250.00	\$4.05	\$2,025.00
199	500	SY	Bermuda Sod	\$10.50	\$5,250.00	\$6.20	\$3,100.00
Estimated Total Cost of Services				\$14,359,830.50		\$15,222,196.15	
Recommended Contract Amount (1 Year)				\$10,000,000.00			